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1) Solve. 
a) 5700 – 250 + 50 = _____ 
b) 6300 + 400 + 200 = _____ 
 

2) What should be added to 530 to get 660? 

3) There are 3387 girls in a school out of 9000 students in 
total. What is the number of boys in the school? 

 
 

4) What do we get when 3500 is subtracted from 7000? 
 

5) Match the following.  
1. 580 a) 100 + 20 

2. 120 b) 300 +100 

3. 400 c) 680-100 

4. 20 d) 120-100 

 
6) Which number should be subtracted from 5500 to get 

4400? 

  

 

Adding and Subtracting Worksheet-3 
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7) Find the sum. 

 
8) Subtract the result of (345 + 46) from 400. 

 
9) There were 1120 males and 2500 females who appeared 

for an interview. What is the total number of candidates 
who appeared for the interview? 

 
 

10) A school library has 80943 books in French, 56782 books in 
English and 667356 books in other languages. How many 
total books are there in the library? 
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1) a) 5500 
b) 6900 

2) 130 

3) 5613 boys 

4) 3500 

5) 1-c, 2-a, 3-b, 4-d 

6) 1100 

7) 733584 

8) 9 

9) 3620 people 

10) 805081 books 
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1. Do you know that when we subtract 0 
from any number, the difference is the 
number itself? 
 
 

2. Addition and Subtraction are building 
block of arithmetic 
 
 

3. Adding zero to any number gives the 
number itself. For example, 14 + 0 = 14. 
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